Deleted data remains on a disk until :

(A) the data is not overwritten
(B) the disk is not scanned
(C) the recycle bin is not emptied

(D) a file compression utility is not used

Which of the following is not an Operating

System ?

(A) Windows

(B) Linux

(©) Mac

(D) None of the above

|

What is the use of spread sheet ?

(A) Allows you to create all different types
of documents."

(B) Used to create dynamic, informational
slide shows through the use of text,
graphics, and animation.

(C) Used to prepare custom handouts,
charts, and reports to highlight
particular findings.

(D) Used to edit videos and audio clips.

What is the use of operating system ?
(A) To manage the resources

(B) To provide user interface

(C) To run computer applications

(D) All of the above

A computer program that converts assembly
language to machine language is :

(A) Compiler
(B) Interpreter
(C) Assembler
(D) Comparator

2.

ap

F2U 71T 2 U Fe&h W a9 qh L&l € Sads

T :

(A) <2 AFWEE (overwrite) 1 &l

(B) few=h Tha 71 fopam WY

(C) {mEsd fa (recycle bin) &I @reft
= foan s

(D) TH WIsd &HiFg v Afzfast (file
compression utility) 9311 1 & <I¢

=1 5 9 =1 |1 Sien oy T8 g 2

(A) faes (Windows)

(B) T (Linux)

(O) #F (Mac).

(D) W= H F FE T

=T Wi (spread sheet) T STANT T & ?

A) == =9 5 9eR & esES T M

(B) ZF= (text), UITH=H (graphics) 3R
THEYH (animation) F wam 3 favi=
(dynamic), T'T?_"TF., (informational)

(C) fo¥y kel &l I9PR 7 & forg weem
TS ATIE (custom handouts), =2
(charts), #r foe (reports) TR FH
F fauwEm s 21

(D) e i siea frew 91 T w0
& fou s=5a= fFar 9= 21

(A) TEIEE F YT 4 & U

(B) ISH 3THA YAH FH & fag

(C) =T SFITAN (applications) &I =@

(D) ST 94l

@Wmﬂmﬁﬁﬁ STTTSAT T (assembly

language) #! WRI[F YW (machine language)

(A) <hHMEeR (Compiler)

(B) 3 (Interpreter)

(C) 3Tt (Assembler)

a

(D) L (Comparator)
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Which of the following operation are logical
operations ?

A) +,—. %

'B‘ > < =

C) £8 %

D) All of the above
The term “user interface™ refers to
(A) the monitor that is available for the

computer
(B) how the operating system responds to
user commands
the means by which the user interacts
with the peripheral devices on the
computer

©

what the user sees on the screen and
how they can interact with it

(D)

Images made up of thousands of pixels are
called

(A) Bitmap

(B) Vector

(C) Story boards

P P P e e ——— -~ .

9.

10.

;IS

In MS-excel which function displays row
data in a column or column data in 2 row ?

(A) Invert
(B) Reciprocal
(C) Index
(D) Transpose

An intelligent robot :

(A) Responds to the changes in its
environment

(B) Follows instruction mindlessly

(C) Possesses no more intelligence than a
dishwasher

(D) Does all of the above

In MS Word, Gutter position can be set in

following positions :

(A) Left & Right

(B) Left & Top

(C) Left & Bottom

(D) Left Only

Oct. 2015

10.

11.

frefotEd SToEE § 8 S A SR
(logical operations) g7
(A) an 7 */
B wre =
Q) #5 %
(D) 3T |t
B TR SRy’ (user interface)
=1 Hefsfd Fa 8

"
N A
A) T S 3 392 & g 390 ©

(B) SATRfET feeen SueTeRdl STCR T SeITel
FY MR
W&ﬁ%ﬁﬁﬁmm(user)
HHH T qfeeia 3TN (peripheral
gevices)é?maww e Y& Ll
SR S O 1 S § R 56
Y GO HE FTHA ©

BRI TUad (pixels) 9 ot st (Images) £l
el I e

(A), faeid (Bitmap)

(B) g& (Vector)

© TR &€ (story boards)

(©

(D)

H.TE T (MS-excel) T FE1 ®IHaT T SR
(Row data) i HIAH (column) H AT HIcTH ST
(column data) H1 U (row) § 9T § 2

(A) 39 (Invert)-

(B) YHMIHd (reciprocal)

(C) 3299 (Index)

(D) ZiTIE (Transpose)

= gigHA @I :

(A) 31T TaiE § e F1 S A T

(B) 3iE HeHt FAW N IO H ¢

(C) U= Tew@ir (dishwasher) q it dfg
TR @@ g

(D) S 9t FATE .

TH @ 98 (MS Word) T, T feufd (Gutter

posiﬁon)ﬁﬁ'ﬁlqﬁﬁﬁzmmm% 2

(A) 191 TE <A (Left & Right)

(B) i@ 3R MY (Left & Top)

(C) =iar SR 7 (Left & Bottom)

(D) %o 41 (Left Only)




2.

13.

14.

15.

16.

17.

Which one has the highest storage
capacity ?

(A) Hard disk

(B) Floppy disk

(C) Compact disk

(D) Bluray disk

Which of the following printers cannot print
graphics ?

(A) Ink-jet

(B) Daisywheel

(C) Laser

(D) Dot-matrix

Operating System functior's may include :
(A) Input/output control

(B) Virtual storage

(C) Multiprogramming

(D) All of the above

The function of a database is

(A) To check all input data

(B) To check all spelling

(C) To collect and organize input data
(D) All of the above

Which of the following is not true in
reference to office automation %

(A) It enhances office productivity

(B) Human factor should be considered in
implementing office automation

(C) Itwill increase informal communication
between employees

(D) All of the above are true

Which of the following is not the example of
Image Editor ?

(A) Microsoft Paint
(B) Adobe Photoshop
(C) GIMP

(D) Octave

12

138

14.

158

16.

| 74

o F QS W 998 AF-RAS (storage)
ST AT €

(A) @ fe& (Hard disk)~

(B) Tt fewh (Floppy disk)

(C) R fewh (Compact disk)

(D) =5 X fe&h (Blu ray disk) -

=1 5 4 2¥a fizT (printer) IT%=S (graphics)
(A) FH-SE (Inket) T

(B) esitegia (Daisywheel) faet,

©) TE (Laser) e

(D) gie-afF= (Dot-matrix) faeT.

s famn 5 w01 § A1 O WA | ¢
() TR/ FrAm

(B) ZarE] =S (Virtual storage)

(C) ===EEHT (Multiprogramming)-

(D) Ti=a =40

e

(A) it TTqE =& HT S FLA
(B) gt ac (spelling)ﬁ i T
(@) e T2 THG AR A HL
(D) SwrE G

e B | S99 ANEH FTSEYA (office

automation) % §eH # TE TR 82

(A) IE HrEiCrd STl % S § |

(B) , WG TEe] SHH ST I AL H
3 foram foen < =fEe |

(©) @ FHaEl F da S Har §
gig FOmI

(D) SR THFIE-

o= gures (Image Editor) I eI FAarEd

F | A | E?

(A) EwER 9e (Microsoft Paint)

(B) TS WY (Adobe Photoshop)

() fm (GIMP)

(D) 3fiFd (Octave).
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18.

19.

20.

What is gutter margin ?

(A) Margin that is added to the left margin
when printing

(B) Margin that is added to right margin
when printing

(C©) Margin that is added to the binding
side of page when printing

(D) Margin that is added to the outside of
the page when printing

Which of the following is NOT an operating

system ?

(A) Windows NT

(B) Java

(C) DOSs

(D) Unix |

Who is webmaster ?

(A) isa person responsible for maintaining
one or many websites

(B) Is a person who teaches web
technologies

(C) Is a person who develops WWW

21F

22.

z3.

o
maintenance

What is the full form of DNS in terms of

Computer Networks ?

(A) Develop no System

(B) Domain Name Server

(C) Digital Number System

(D) Digital Node System

A__ displays commonly used
commands.

(A) task pane

(B) worksheet grid

(€) main window

(D) command bar

Which is a good example of primary key in
Student Database ?

(A) Phone Number

(B) Name

(©) Address

(D) Roll Number
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18.

8.

20.

TR HISA (gutter margin) 1 g ?
(A) 98 HIfS (margin) ST &1 912 (printing)
% 3R T S A e W
(B) =@ wIfsA (margin) ST &1 IS (printing)
% 3 o e S S

(C) =EHINA (margin) S T BITE (printing)
% SN U % ET 94 (binding side) |
S SR

(D) 3?‘?7::-"_'! (margin) EikEa] =3 l’pn’nﬁng)
% SR U &% amet (outside) ST A7 |

=1 7 9 Frr s faen (operating

system) & § ?

(A) foreieg T (Windows NT)

(B) ST (Java),

(O) =™ (DOS)

(D) I (Unix)

YA (webmaster) F7 & ?

(A) TF A FT ITEEE (websites) FT T
@A % foau R = fw

(B) S e a9 drenfifawg (technologies)
=1 faam &

(©): WWW fasfad &2 arer =afam

—(O)_Fe e o e

21.

22,

23

FIX JeTd F Hed § Fwuw. (DNS) =1

T A 2

(A) =TT 1 faweg (Develop no System)

(B). A 99 Felx (Domain Name Server)

(C) fefSed Fox famy (Digital Number

System)

(D) fefSeet i et (Digital Node System)
AR T 3ITAT R sy

(commands) =1 Ff¥id 3ar £

(A) 2= 99 (task pane)

(By w&vie fus (worksheet grid)

(©) T=A {91 (main window)

(D) WHIS &R (command bar)

ST ST § WTafieh it i Uk 37 32

FITH 2

(A) ®F TR

(B) ™

(€) ar

(D) T Fax




24.

257

26.

27.

28.

29.

A black border around a cell indicates that 24,

the cell is the

(A) cell referenc
(B) name box
(C) active cell
(D) cell address

What is the full form of PDA ? 25.

(A) Personal Digital Adapter
(B) Personal Digital Assistant

(C) Process Digital and Analog

(D) Personal Driver Assistant

|

Which among the following is most powerful 26.

computer ?

(A) Micro Computer

(B)  Mainframe Computer
(C) Mini Computer

(D) Super Computer

In Excel, a numeric value can be treated as a 27.

label value if it precedes with

(A) Apostrophe (')

(B) Hash (#)

(C) Exclamation (!)
(D) Ampersand (&)

On which toolbar can you find Format  28.

Painter tool ?

(A) Standard Toolbar
(B) Formatting Toolbar
(C) Drawing Toolbar
(D) Picture Toolbar

A(An)

from a database.
(A) Queries

(B) Criteria
(C) Objects

(D) Conditions

is arequest for information ~ 29.

IF & IR AR T Flel T T G HA Rl H=
Tohd A © 7

(A) 9 Had (cell reference)

(B) H i (name box)

(C) Wfsha | (active cell)

(D) ¥ Ul (cell address)

R (PDA) =1 90 A T8 ?

(A) YHAo fef92™ €=l (Personal Digital
Adapter)

(B) . qga fefeea SIfEe (Personal Digital
Assistant) -

© HEg fefs2a 3R T (Process Digital
and Analog)

(D) TE= TES% AGEL (Personal Driver
Assistant)

= 5 § 37 = 9 gl v 87

(A) ¥EH (Micro) X

(B) =% (Mainframe) X

(C) & Mini) X

(D) ¥R (Super) FIE

THA |, A% A (numeric value) EaRSE !
A (label value) % &9 H HET S Hehall & AN
CrI - i

(A) STIEIE (Apostrophe) ()

(B) = (#):

(C) fommafeaE= ()

(D) THET (&)

= § § % TSR (toolbar) T 39 WU
YeX T (Format Painter tool) F1 TH F HRd
g2

(A) ¥ T@ar (Standard Toolbar)

(B) - WM ToaR (Formatting Toolbar)
(C) wifd7 Z&eR (Drawing Toolbar)

(D) TR TR (Picture Toolbar)

eE ¥ NHEN F AU T3y 71

(A) T (Queries)

(B) FEA (Criteria)
(C) iesi=d (Objects)
(D) FEMAE (Conditions)
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30.

51"

32.

83.

B — Y T T, e e

34.

35.

Compilers and Interpreter are themselves :

(A) High level language
(B) Programs

(CO) Hardware

(D) Mnemonics

What is the full form of TFT ?
(A) Thin film transistor

(B)  Thick Flip top

(C) Thin fit transistor

(D) The film transistor

What is the ASCII code of character “+” ?

(A) 0011 0000 '
(B) 0010 1011
(C) 0010 1000
(D) 0011 0001

When the LAN is arranged in such a way
that each computer is connected directly to
the HUB the configuration can be termed as

network.

(B) Star
(C) Ring
(D) None of the above

What is motion path in MS PowerPoint ?

(A) A type of animation entrance effect

(B) A method of advancing slides

(C) A method of moving items on a slide

(D) All of the above

What is the purpose of task manager ?

(A) To list all programs that are running

in Operating System

(B) To arrange all of the windows on the

screen
(C) To begin program
(D) Both (A) and (B) are correct

-00o0-
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30.

31,

32

358

(Compiler) #AR e (Interpreter)
=y ‘
(A) 391 WX (high level) T T -

(B) FE (Programs)

(© greadl (Hardware)

(D) e (Mnemonics)

F uE A, (TFT) %1 O T #7122

(A) o1 T%eH 2= (Thin film transistor)
(B) s fery 2@ (Thick Flip Top)

(C) oF ffe SIS (Thin Fit transistor)
(D) < fhew ST (The film transistor)

‘47 HTE (character) FT AR IS (ASCII
Code) I & ?

(A) 0011 0000

(B) 0010 1011

(C) 0010 1000+

(D) 0011 0001

¥ 39 (LAN) 39 @%@ § =afed € 6 g
FHX T (HUB) & €19 91 g3 € o 38

Joad ¥ ®9 § el S Gohdl 7|

(A) 49 (Bus).

34.

O E— -
(© T (Ring)
(D) ST & | HiE T
TH.UH. TR @Re | TEA 99 (motion path)
FNE?
(A) T YHR HT THHAIE FoIa o
(animation entrance effect) 7
(B) TS i AW e i fafy
(C) TES W 3zed Taviiel w37 1 faft
(D) ST Hie

Fd gagS (task mmager)mﬁww%?

(A) e faen § =@ w wdl gom @
geEg HET

(B) hA TR Tl foSial i el L

© FTdeH (program) Y& HT |

(D), (A) ¥R (B) <l 5eT &

-00o0-



